Notes: Ramp with NonZero Fnet November, 2021
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The 40 kg sledder is coming
down the hill. The coefficient of
friction is 0.10. Solve for
Normal Force, Friction and the
Net Forces T
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7 gaining speed. O] gaining speed.
[0 constant speed. 0 constant speed.
O losing speed. O losing speed.
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The 75 kg sledder is coming
down the hill. The coefficient of
friction is 0.15. Solve for
Normal Force, Friction and the
Net Forces
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O gaining speed.

O constant speed.

O losing speed.

O gaining speed.
O constant speed.
O losing speed.
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down the hill. The coefficient of 4 < 0
friction is 0.15. Solve for

Normal Force, Friction and the
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i Konstant spect.

O losing speed. O losing speed.




